-\
i

AR 96 FE R 2F P WY NERAN? FARRFAFHETGE T & #F8

AREA
"H’“*Hg*’é BL: B = O U .
2~ F a0 G HE 4R ;F:%”:",— BrAAFENBEETRS 544 > T4 i %24 100 # -

i

- ~ HiFsm:

1 706 ® 53557, F 8B Ex —xaF;89
X2+ x+1, x2-1, x?2=x, x*-1, x*+x®>+1; x* +x
(A)3 i (B) 4 & (C)5 (D)6

2. F n sy, FF 5B, RIFI4B; 25 6B, RIFI3B;, 25 8B -, PIFI7 B  olpd 7 LE

100 &, P4F 4% B 4 n s T - B F?
(A)n <20 (B)20 < n <40 (C)40<n <60 (D)60 < n <100

3. 7 A5 cosx+sinx:%, 03xs%73 a2

(A)0 (B) 1 (C) 2 (D) 3

4. %“_AJ?E%—] AR 4Bz A543 B 2 A5 rgmag ez &7 ABC if £

w4 6,8,10. BiE 715;._5;’7'fm_'%" ’ﬁ*&“ﬁ&ﬁ;&%? A
(A) 1 8 6
) 3
(D) 4

5. % (a,-19,1) 7 B & (L-2,3)fr (L3, 1) s m &, Bl ahig 5 w2
(A) -3 (B) -1 €) 1 (D) 3

6. & nl=n-(n-1)---2-1, B991+202 & 100! hg. X 2 Fl# L 5 2

(A) 2 (B) 10 (C) 99 (D) 101
7. ® & 4T g o> 2% A(-3,0), B(7,0), " AB L B fSeh Ffl 2y fh>t C P C A xhent 3. i CiFp [l
M x> D gL, R D hx g 1@,1,;9
21 25 19
A) —= B) —— c) -2 D) ——
(A) 5 (B) 2 © 3 (D) 3
8. APF AX +(M+B)X+7M+3=02 X 2> A-B F 8. % Acix k% a Bex k4% b, #7 a<0<b. ¥

OA:0B=3:5,0 % &, Plb-ami i #?

(A) 4 (B) 9 (C) 13 (D) 16

9. t+ FlehF Y, © 4v5h ABC % 120°, %% AED % 160°. 3 % PQ % CD 3 T A &

¥ 2 Q, B ZAQP £ A7
(A) 5°
(B) 10°
(C) 15°
(D) 20°

b
—
)



10.
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